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13F

Œ ≈
U

≈ ‰
G

?
72 3

affrettando

Œ
U

Œ
rit. 10a tempo 8

Tempo primo q = 96

≈ œ
œ œ œ œ œ œ

F

H

Ponteio
Gilberto MendesFagote 1



? 83 42
95

œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ
œ

œ
œ

œ
œ

œ
œ

œ 1 1

? 42 43
100

≈ œ œ œ œ œ œ œ

P

I

J
œ

‰ Œ
8

≈ œ œ œ œb œ œ

F

? 43 42
111

≈
œ œ œ œn œ œ œb œ œ œ œ

P

J

≈ œ œ œ œ œ

f

œ œ œ œ

?
114

œ œ œ œ œ œ œ œ œ œ ≈ œ œ œ œ œ œ œ œ œ œ œ

? 83 44
118

œ œ œ œ œ œ œ œ œ œ œ
9K

‰ J
œ>

‰
f

? 44 43 83 43
130

œ œ œ œ œ œ œ œ œ œ œ œ
‰ J

œ>

F f
≈

œ œ œ œ œ œ œ œ œ
‰

F

L

1

? 43 42 43
133

Œ
œ œ œ œ Œ

rit. 1 2
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